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Q1:-

Which of the following is equivalent
to

A b Laa gl

1 —sin? 0

sinZ 6

a) cot? 0

b) csc? 0

c) tan?0

d) cos? 6

Q2: -

A geologist measures the angle
between one side of a rectangular lot
and the line from her position to the
opposite corner of the lot as 30°. She
then measures the angle between
that line and the line to the point on
the property where a river crosses as
45°, She stands 100 meters from the
opposite corner of the property. How
far is she from the point at which the

river crosses the property line?

A i R Ry
friver
| river

Y/
4

B O gl Y La sl Aalle (s
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Q3: -

Find the exact value of each omd J AR B dal) 2 (3)
expression.
sec 1275°

a) —V6++2
b) 1.1313

c) —V6—+2
d) —2.1384

Q4: -

Find the exact values of JABBA dadll 22 (4)

4
sin20if Sin9=§;90°<0<180°

Find A~1 if it exist Bagage s 13 47T aagl  (5)
16 8
a=% 2

does not exist
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Find AB if possible LSow OIS AB 15| a>9l  (6)

-1
14

132 ]
14)

does not exist

Find the maximum value of the Gagll ) bl aousdl a9l (7) yw
objective function and for what ashioll X,y pud o= JUS (0

values of x and y they occur, SVCIW-FN]

subject to the following

constraints.

f(xy)=3x+y
y<2x+1, x+2y< 12, 1<y <3

\ y

81+

6+

N -

i4631'01'21'41'61w
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Q8: - Find the coordinate of the focus of
the parabola

Ol ghasll 8,81 Olslas| a>gl
aisleo sil

3y—x2=4x+7

a) (—2,1)
b) (-2,7)

o (-3,1)
d) (-2,

Q9: - Write an equation for parabola with
focus at (5,6) and directrix x = —2

a) y=i(x+6)2+1.5
b) y=—(x—6)%—1.5
c) x=1—14(y—6)2+1.5
d) x=i(y+6)2—1.5

wle 4,8 g8 ¢89S0 &S alsleon Sl
e alds géy9 (5,6) ansill
X = -2 passiauoll

(8) uv

(9) uv

Q10: - | EARTHQUAKES A stadium is located
about 35 kilometers west and 40
kilometers north of a city. Suppose an
earthquake occurs with its epicenter

Assume that the origin of a coordinate
plane is located at the center of the
city. Write an equation for the set of
points that could be the epicenter of
the earthquake

about 55 kilometers from the stadium.

&0l bwg oe sliowVl aew JyV5l
Voo 409 U,¢ 35 asluwoy Gy yés

slicwl e 03550 A=y I35 Gga> o8l
Ol Uo,:l 50,85 55 @8luwoy @uoll

e 885 sl Sgiall Juol alnss
asleo S| a0l bwg 55,0

58 30 WsSH Ul Sy sl blasl dcgomeo)
JiJ3Jl

x? + y* = 3025

(x —35)% + (y —40)? = 3025

(x —40)2 + (y —35)% = 3025

(x —35)% + y2 = 3025
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Write an equation for each oS @il Sl ghsll alsleo Sl
hyperbola

Q12: -

Bethania is pushing the handle of a 398) 4l ,pS AuwSo 9 Al
push broom with a force of 190 &0°33 a,labo @gl509 N 190 o,laso
newtons at an angle of 33° with the RV
Ground. &S yolly @89Vl &S yoll Hlaso 2>l
Find the magnitudes of the &390l
horizontal and vertical components.

A159.3 N “,ub?l_; 103.5 N L l‘,E"JI
The horizontal about 103. 5 N and the vertical about 159. 1 N.

103.5 N Ll il 159.3 N Lui 4
The horizontal about 159.3 N and the vertical about 103.5 N.
2926 N Lt g 1234 N Lz
The horizontal about 123.4 N and the vertical about 292.6 N.

A23.4 N bufis ully 292, 6 N i )
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Q13-  Find the component form AB be the aula @hsDE asioll Ul yo,u8l  (13) yw
vector with initial point B(1,4,8) aulg ahsigAd (—2,5,4)

A (—2,5,4) and terminal point &S 0l 8)5.0)L dpindl sl
B(1,4,8).

a) (3,-1,—4)
b) (3,—1,4)
c) (—1,3,4)
d) (3,1,4)

Q14: - Find the component form of the 0,l280 V axinl &S ,0ll 6,50l a>9l  (14) uw
vector ¥ with magnitude 24 and 210 aiygl;9 24
angle 210

a) (12,12v3)
b) (—12,—12+/3)

c) (—12+/3,-12)
d) (—24+3,—-24)

3x+y forx=(0,—-1),y =(2,1)
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S\9,9 LS| pumidl

Q16: - Verify that each equation is an O\ S\ bow adleo Js vl wuwil  (16)
identity. asy Uoso

cos 6 B 1+ sin@
1—sin®  cos6

Q17:- Solve the equation for all value of 6. 0 pud guox) aJUJl asleoll J> (16)

2cos?0—-3cos8—-2=0

Q18: - Use Cramer’s Rule to find the Ul O¥slesldl o Js J>  (71)

solution of each system of linear 2ou)S asy,b plaskawl
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equations, if a unique solution
exists.

2x +3y =4
5x+6y =5

S5 Use Cramer’s Rule to find the solution  aJUJI GVsleall plbs JS J> S5
Q18:- of the system of linear equations, if a 2ou1)S sy b plasuiwl  (17) o
unique solution exists.

x+2y=12
3y —4z =25
x+3y+z=20
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Q19: - Find the coordinates of the center Jobg uwissdly 38,0l wlilasl a>gl  (18) o+
and foci and the lengths of the w2l je=olly sl 9=l
major and minor axes for the ellipse o)l pi aidsleo Sl Laslll glsl)
with the given equation. Then graph &bsll uly
the ellipse.

3x2+y2—6x—8y—5=0

Q20: - Find the angle between vectors oapiodl o @l > (20) yw
u(7,10), v(4,—4) to the nearest L_,)ézv w8l go u(7,10), v(4, —4)
degree a> )l o e3>
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